A I = H 8 & 5 =
=L No.1
I & -# B ) ® 5 2 WETHE | B4 ]

ERBER
BEYEBET Bl MUZELGEE-HE S8

BEYRELT

S bR U] i AsEEZERR t=15cmLLF 0.7 + 50 + 0.7 = 6.4 6] m

S bR B R AsEiZERR t=5cm AR 0.7 * 5.0 = 35 4] m2

1Y) -MEEYEIEL BEEEY ADET 0.15 * 5.0 = 0.75 1] m3

EfnET

R fi Ass¥ 3.5 * 0.05 = 0.18 02| m3

R fi CosR (8K 5) 0.15 * 5.0 = 0.75 1] m3

A5y AsF% 0.18 = 0.18 02| m3

A5y ConR (8% H7) 0.75 = 0.75 1| m3
EERET A UEHEE-RE SR

fEELT

R TR IR (E%E) 623.3 + ((0.05+0.10+0.50)*20.0%30.0)) = 10133 1000 m3

RIEYHEAD T8 MR 0.9 * 5.0 = 4.5 5| m3

RRRE L 40mplt W+ 0.5 * 20.0 * 30.0 = 300.0 300] m3

HEL RC-30 /NMRE 0.8 * 5.0 = 4.0 4] m3




. T = o = £ it E
L) No.2
I %% - # B i % = = SREHEE | B fi
623.3 + ((0.05+0.10+0.50)*20.030.0)) +
THEER T® 45 = 10178 1020] m3
R ELS 1017.8 = 10178 1020 m3
SEEER ()L ER) RIGHIFIE ML (27.7 + 401 + 9.1 + 18.2) = 95.1 100 m3
EEYMT AR EEWHEE -HE S8
AlET
A T-256 TEB FIUNEE
EHEAEAE 13 600%1000%2000 2.0 = 2.0 2l m
A T-25 TEB FIUMNEE
EHAEAE 28 600*1100%1500 3.0 = 3.0 3] m
1y’ =pavhy—t 18-8-40BB 0.29 = 0.29 0.3] m3
ERMAEYT
A=K -LEERE dEAR
RIgFEE WEREST @ 100LLF 104K# 2.0 = 2.0 IS
ST Al Em S8
FAIF7ILLEHET
TERE CGHEER) RC-30 t=10cm 0.9 * 5.0 = 45 5| m2
I B CGHEER) M-30 t=10cm 1.1 % 5.0 = 5.5 6] m2
- B (EE - ERIEED) M-30 t=10cm 20.0 * 30.0 = 600.0 600[ m2
TREEEIE M-30 FEJt=3cm 0.7 * 5.0 = 35 4 m2
TREEEIE HEME 20.0 * 30.0 = 600.0 600 m2
W=1.4mK#E PK-3
=B (EE-KEE) BAZHEAs(13) t=5cm 2.0 * 5.0 = 10.0 10 m2
W=3.0m#t8 PK-3
R[E (8- BEH) BAEEHEAs(13) t=5cm 20.0 * 30.0 = 6000 600| m2
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Hgga>r s 1)— +|18-8-40BB 0. 15%0. 96%10. 0 m 1.4
ik L 0.15%2. 0%10.0 m 3.0
EEELE 0.96%10.0 m 9.6
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B A EAIE |600%1100%1500 (15.0/1.5 0 b-Fvh & T-25 LZ@EB A WEE) = @ 10.0
(B )
BB >4 1)— +[18-8-40BB 0. 15%0. 96%15. 0 = m 2.2
iy e BL 0. 15%2. 0%15.0 =l m 4.5
HEEIE 0.96x15.0 | m 144
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1.0 Y

B W fiz K - & &t g5 = HBi| % &
BHOERE (18 (0. 05+0. 105) /2%0. 6%2. 0 m 0.09
2 (0. 067+0. 15) /2%0. 6%3. 0 m 0.20
a5t m 0.29

A0 -2 - HERR
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EE
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IB#EEER Y % LEEEX 1

@ BEERIEEY OKER) £ 1.0
Z i oE o= By & B
BEFEaVZ)—Fk  0.15%5.0 = m 0.75
0 (]
| | BEEDHEEHn A=0.15 n2
M 540)
| GO0
Z i oE o= By & B




i B B B OE
No. 1
FEHI
I THiNo. 1 WrimAd | EHwmER SR ESS
(m) (m*) () (m*)
0
0. 00 0.0
0+ (1.316)
1.32 1.32 21.2 10.6 14. 0
0+ (29.431)
29. 43 28. 11 21.2 21.2  595.9
0+ (30.691)
30. 69 1.26 0.0 10.6 13.4
A R 30. 69 623. 3




